Graphs, all for hash tables with N=100,000 data items entered,

but with the table size (H) adjusted to show the effects of fullness
(N) on performance. Graphs show number of linked-lists expected of
each size.

N = 100,000; fullness = 0.01 (so H = 10000000)
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N = 100,000; fullness = 0.05 (so H = 2000000)
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N = 100,000; fullness = 0.1 (so H = 1000000)
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N = 100,000; fullness = 0.2 (so H = 500000)
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N = 100,000; fullness = 0.3 (so H = 333333)
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N = 100,000; fullness = 0.4 (so H = 250000)
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N = 100,000; fullness = 0.5 (so H = 200000)
0 121306 |*************************************************************
1 60653 |*******************************
2 15163 |********
3: 2527 | *x
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5 32 |
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N = 100,000; fullness = 0.6 (so H = 166667)
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N = 100,000; fullness = 0.7 (so H = 142857)
O 70941 |**************************************************
1 49658 |***********************************
2 17380 |*************
3: 4055 | ***
4 710 | *
5 99 |*
6 12 |*
7 1 |*
N = 100,000; fullness = 0.8 (so H = 125000)
O 56166 |*********************************************
l 44933 |************************************
2 17973 |***************
3 4793 | *Fr*x*
4: 959 |*
5 153 |*
6 20 |*
7 2 |*
N = 100,000; fullness = 0.9 (so H = 111111)
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N = 100,000; fullness = 1 (so H = 100000)
O: 36788 |*************************************
1: 36788 |*************************************
2: 18394 |*******************
3: 6131 |*******
4: 1533 | **
5: 307 |*
6: 51 | ~*
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N = 100,000; fullness = 1.1 (so H = 90909)
O 30261 |**********************************
l 33287 |*************************************
2 18308 |*********************
3 6713 |********
4: 1846 | ***
5 406 | *
6 74 | *
7 12 |+
8 2 |*
N = 100,000; fullness = 1.2 (so H = 83333)
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l 30119 |*************************************
2 18072 |**********************
3 7229 |*********
4: 2169 |*x*x*
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7 18 |+
8 3 |*
N = 100,000; fullness = 1.3 (so H = 76923)
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N = 100,000; fullness = 1.4 (so H = 71429)
O: 17614 |*************************
1: 24660 |***********************************
2: 17262 |*************************
3: 8055 |************
4: 2819 | *xHx*
5: 789 | **
6: 184 |*
7 37 |*
8: 6 |*
9: 1 |*
N = 100,000; fullness = 1.5 (so H = 66667)
O 14876 |***********************
l 22313 |**********************************
2 16735 |**************************
3 8367 |*************
4 3138 |*****
5: 941 | **
6 235 | *
7 50 |*
8 9 |*
9 2 |*
N = 100,000; fullness = 1.6 (so H = 62500)
O: 12619 |*********************
l: 20190 |*********************************
2: 16152 |**************************
3: 8614 |**************
4: 3446 |******
5: 1103 | *~*
6: 294 | *
7 67 |*
8: 13 |*
9: A
N = 100,000; fullness = 1.7 (so H = 58824)
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= 100,000; fullness = 1.8 (so H = 55550)
O: 9183 |*****************
1: 16530 |******************************
2: 14877 |***************************
3: 8926 |*****************
4: 4017 |********
5: 1446 | ***
6: 434 | ~*
7 112 | *
8: 25 | *
9: 5 | *
= 100,000; fullness = 1.9 (so H = 52632)
O 7872 |***************
l 14957 |*****************************
2 14209 |****************************
3 8999 |******************
4 4275 |*********
5: 1624 | ****
6 514 |*
7 140 |*
8 33 | *
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= 100,000; fullness = 2 (so H = 50000)
O 6767 |**************
l 13534 |****************************
2 13534 |****************************
3 9022 |*******************
4 4511 |**********
5: 1804 | ****
6 601 |**
7 172 | *
8 43 | *
9 10 |+
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= 100,000; fullness = 2.5 (so H = 40000)
O 3283 |*********
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2 10261 |**************************
3 8551 |**********************
4: 5344 |**************
5: 2672 |*******
6: 1113 | ***
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8 124 | *
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100,000; fullness = 3 (so H = 33333)
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100,000; fullness = 3.5 (so H = 28571)
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100,000; fullness = 4 (so H = 25000)
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100,000; fullness = 5 (so H
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100,000; fullness = 10
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